Mg RiRbE

& 1. EHKL BLIEE @ 2. BFROERHER
BB e T e B
20204 B 250
= 142 191 190
ili Zi 200 166 167
y 148 142
1134 1 |
150 123 119
98
100
50 r
o 43 42 48 44
0 S S e e I
20164 20174 20184 20194 20204
& 3. F#57l @ 4. kPRI &5 FERER
50% MNAKEZ -
2% 18%
40%
30%
20%
10%
1 I %5 o EEE
0% S — - |7 B2 36% )
0-147  15-39A  40-645  65-T4m  75-84K  85- XI0MERFE B DEMEEEDT ()] &L
& 6. SEMERAIR & 7. EBXS5
BEd— R e SRk 0 20 40 60 80 100
C160 =] 13 B OAHD
C161 BEER (1~3) BN - B ERAE AR
C162 B {RED 74 BRI BRI EREG
C163 B RIFEDR 52 forERaHT - AR EAREEO
C164 ] (1~3) HorERR U - B FERA AR 5O
C165 E/J\’g 0 — PETEERTH
C166 BAE 0 6 zoth
C168 EREPRE 0 o
C169 ENOS (1~3)| = 379 B IR (%)
| B e E1TES
[
Ll (B COEARA £ S W - EHIROOG) 139 (97.9%)
o2k B 3% A AU & TR
(@2B) 88 (62.0%)

@ 3. UICC TNM BERIX T — 2R <EFIX 520 - 30(BFERVEEEER). W ETRD H >
0 HA | HB 11 #A 111 £8 IVER B Z4Ed &5t
1“5 -- 76 (7~9) 15 21 13 0 134
25 -- 56.7% -- 11.2% 15.7% 9.7% --

= |
T IVEA

LN
LEEkx)

20204F Hpz 15.7%

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%



T R R

@ 9. UICC TNM #2027 — V3

<JHEFIX 20 - 30(AERMEEEES). FHIFHRD 4 >

0#8 | #8 Il 28 111 43 IVER B8 ZeET HIETAER &t
g - 75 11 (4~6) (4~6) 0 0 (4~6) 101
B - 74.3% 10.9% - - -- - --
|
20204 &EF 3.9%
ERIp:|
w IIEA
IVER
u REf
A
0% 10% 20% 30% 40% 50% 60% 70% 80% 100% n iR
@ 10. UICC TNM #8& 27— 81 <EFIK4520 - 30(BRERVEIARES). B ENRO & >
0#8 | #A Il 28 11 43 IVER B8 Z4Ed &t
H# -- 83 12 12 24 (1~3) 0 134
= - 61.9% 9.0% 9.0% 17.9% - -
2020% £ =
5 SIE:]
20204 BAIE 24.9% l oA
IVES
20204 HpE PN
nHEYS
0% 10% 20% 30% 40% 50% 60% 70% 80% 100%

€ 11. UICC TNM #E& R T — V3l BB D A
R, EROARET > BBRELLOHBTHHMYE L TES . M7 7 CHI0%RBORE L GRS EEEHT ()] L1

[1#]

ARHEYAE
R AR
MR REER

TRETHRER S

L g
M9
ZOfth
R

[@ILE:ED |

AR AR
R AR
RARRHTER

TRETHRER

Lg%

R ERE

Z 0t

o

20 40
L]

p—

o

60

10

(]
0

AREAE ——

RRRERYAE
NARIRHY AR
JRERE S
f(d<27- 93
R
[olich
gz W

[IvH ]

SR RE
HERRRRE
NREH AR

MRS -

Lg%
bRl 0w
Z 0t

10

<M7'7 7RDERERKS >

- [Fif] L F oA
- [RRE] L RREED A
- [F+R] L FT+NREE
- [HGTHR] L RO H
- (%] LD
-] L RSHR+EY)
- [E4] L EY+Z Ot
= (F/A+]  F/ REERER
= [F/A+E]  FH/AEE+ED
= [F/A+E] FH/RESZ Ol
= [F/P+H+EE] © F/ AR R RETIR Y
- [iEEt] L ERUAOEEY
= [BaRE] LRBEHR

[(f)] C10%RBRDF & &






